ON WEITZENBOECK'S INEQUALITY AND ITS GENERALIZATIONS

SHAN-HE WU, ZHI-HUA ZHANG, AND ZHEN-GANG XIAO

ABSTRACT. In this paper, a new proof of the equivalence for Weitzenboeck's inequality and Finsler-Hadwiger's inequality is given, and some generalizations of Weitzenboeck's inequality for only one triangle is proved.

1. INTRODUCTION

Throughout the paper we assume a, b, c denote the opposite sides of triangle ABC, A, B, C the angles, s the semi-perimeter, Δ the area and R the circumradius. Moreover, we will customarily use the cyclic sum symbol and cyclic product symbol, that is: $\sum f(a) = f(a) + f(b) + f(c)$, $\sum f(a, b) = f(a, b) + f(b, c) + f(c, a)$ and $\prod f(a) = f(a)f(b)f(c)$, similarly, one defines others.

In 1919, Weitzenboeck [1] obtained the following interesting inequality for sides and area of the triangle

(1.1)
$$\sum a^2 \ge 4\sqrt{3}\Delta$$

with equality holding if and only if the triangle ABC is the equilateral one.

Inequality (1.1) is called Weitzenboeck's inequality. In the theory of geometric inequality, Weitzenboeck's inequality and its generalizations often play fundamental role, these results are interesting and useful. For example:

In 1937, P.Finsler and H.Hadwiger [2] first studied the generalization of Weitzenboeck's inequality, their got:

(1.2)
$$\sum a^2 \ge 4\sqrt{3}\Delta + \sum (a-b)^2$$

with equality holding if only and if the triangle ABC is equilateral.

A weighted representation for Weitzenboeck's inequality is given in [3], A.George verified that

(1.3)
$$\sum \left(\frac{\alpha_1}{\alpha_2 + \alpha_3} a^2\right) \ge 2\sqrt{3}\Delta$$

where $\alpha_1, \alpha_2, \alpha_3 > 0$.

A.Oppenheim [4] published the following useful weighted formula:

(1.4)
$$(\sum \lambda_1 a^2)^2 \ge 16\Delta^2(\sum \lambda_1 \lambda_2)$$

with equality holding if and only if $\lambda_1 : \lambda_2 : \lambda_3 = (b^2 + c^2 - a^2) : (c^2 + a^2 - b^2) : (a^2 + b^2 - c^2)$, where $\lambda_1, \lambda_2, \lambda_3$ are the real numbers.

For two triangles, the generalization of Weitzenboeck's inequality (1.1) is the well-known Neuberg-Pedoe inequality:

(1.5)
$$\sum a_1^2 (b_2^2 + c_2^2 - a_2^2) \ge 16\Delta_1 \Delta_2$$

with equality holding if and only if $\Delta A_1 B_1 C_1 \sim \Delta A_2 B_2 C_2$.

Date: January 19, 2004.

¹⁹⁹¹ Mathematics Subject Classification. Primary 26D15.

Key words and phrases. Weitzenboeck's inequality, Finsler-Hadwiger's inequality, equivalence, generalization. This paper was typeset using $\mathcal{A}_{\mathcal{M}}S$ -LATFX.

In this paper, a new proof of the equivalence for Weitzenboeck's inequality (1.1) and Finsler-Hadwiger's inequality (1.2) is given, and some generalizations of Weitzenboeck's inequality for only one triangle is proved.

2. A New Proof of the Equivalence for Weitzenboeck's Inequality (1.1) and Finsler-Hadwiger's Inequality (1.2)

To prove the equivalence for Weitzenboeck's inequality (1.1) and Finsler-Hadwiger's inequality (1.2), the following Lemma 2.1 will be used.

Lemma 2.1. In every triangle ABC, if

(2.1)
$$a_1 = \sqrt{a(b+c-a)}, b_1 = \sqrt{b(c+a-b)}, c_1 = \sqrt{c(a+b-c)}$$

and

(2.2)
$$A_1 = (\pi - A)/2, B_1 = (\pi - B)/2, C_1 = (\pi - C)/2,$$

then the triangle A'B'C' for sides a_1, b_1, c_1 is a triangle for angles A_1, B_1, C_1 , and the area $\Delta_1 = \Delta$.

Proof. Because a + b - c > 0, b + c > a, c + a - b > 0, and from the expansion (2.1), we have

$$(a_1 + b_1)^2 = a(b + c - a) + b(c + a - b) + 2\sqrt{a(b + c - a)b(c + a - b)}$$

> $a(b + c - a) + b(c + a - b) = c(a + b) - (a - b)^2$
> $c(a + b) - c^2 = c(a + b - c) = c_1^2$

that is

$$a_1 + b_1 > c_1$$

similarly, we can obtain $b_1 + c_1 > a_1, c_1 + a_1 > b_1$. Therefore, a_1, b_1, c_1 are three sides of a triangle. According to the expansion (2.2) and $A_1 + B_1 + C_1 = (\pi - A)/2 + (\pi - B)/2 + (\pi - C)/2 = \pi$,

we get that A_1, B_1, C_1 are three angles of a triangle.

Also, assume a triangle for the sides a_1, b_1, c_1 is $\Delta A'B'C'$, then utilizing the fact that

$$\cos A' = \frac{b_1^2 + c_1^2 - c_1^2}{2b_1c_1} = \frac{b(c+a-b) + c(a+b-c) - a(b+c-a)}{2\sqrt{b(c+a-b)}\sqrt{c(a+b-c)}} = \sin\frac{A}{2} = \cos\frac{\pi - A}{2} = \cos A_1,$$

we immediately get $A' = A_1$. Similarly, we can obtain $B' = B_1, C' = C_1$. That is the triangle A'B'C' for sides a_1, b_1, c_1 is a triangle for angles A_1, B_1, C_1 .

Finally, we have

$$16\Delta_1^2 = 2\sum a_1^2 b_1^2 - \sum a_1^4 = 2\sum a^2 b^2 - \sum a^4 = 16\Delta^2,$$

i.e., $\Delta_1 = \Delta$. The proof of Lemma2.1 is completed.

Theorem 2.1. Weitzenboeck's inequality (1.1) and Finsler-Hadwiger's inequality (1.2) are equivalence.

Proof. Firstly, Finsler-Hadwiger's inequality $(1.2) \Longrightarrow$ Weitzenboeck's inequality (1.1) is obvious. Secondly, to prove Weitzenboeck's inequality $(1.1) \Longrightarrow$ Finsler-Hadwiger's inequality (1.2). From Weitzenboeck's inequality (1.1) and Lemma2.1, we obtain

$$\sum a_1^2 \geqslant 4\sqrt{3}\Delta_1,$$

and

$$\sum a(b+c-a) \geqslant 4\sqrt{3}\Delta$$

that is Finsler-Hadwiger's inequality (1.2). Theorem 2.1 is proved.

Remark 2.1. By the same way, we can prove that the Neuberg-Pedoe inequality (1.5) and the following Zh.-P An's inequality (2.3) (see also [14]) are equivalence:

(2.3)
$$\sum a_1(b_1 + c_1 - a_1)(c_2 + a_2 - b_2)(a_2 + b_2 - c_2) \ge 16\Delta_1\Delta_2$$

with equality holding if and only if $\Delta A_1 B_1 C_1 \sim \Delta A_2 B_2 C_2$.

By using Lemma2.1 and Finsler-Hadwiger's inequality (1.2), we easily prove the following corollary:

Corollary 2.1. In every triangleABC, we have

(2.4)
$$\sum_{a} a^2 \ge 4\sqrt{3}\Delta + \sum_{a} (a-b)^2 + \sum_{a} (\sqrt{a(b+c-a)} - \sqrt{b(c+a-b)})^2$$

with equality holding if only and if the triangle ABC is the equilateral triangle.

Theorem 2.2. Assume μ is a real number, then in every triangle ABC, the inequality

(2.5)
$$\sum a^2 \ge 4\sqrt{3}\Delta + \mu \sum (a-b)^2$$

holds that the best possible is the coefficient $\mu = 1$.

Proof. In (2.5), let a = b = 1, c = t, then we have

$$2 + t^2 \ge \sqrt{3}t\sqrt{4 - t^2} + 2\mu(1 - t^2)$$

Set $t \to 0$, we obtain $\mu \leq 1$, therefore the coefficient $\mu = 1$ is the best possible.

3. Some Generalized Results for Triangle

In this section, we will list another generalizations of Weitzenboeck's inequality for triangle.

Theorem 3.1. If one of $\lambda_1 + \lambda_2$, $\lambda_2 + \lambda_3$ and $\lambda_3 + \lambda_1$ greater than zero, and $\sum \lambda_1 \lambda_2 > 0$, in every triangle ABC we have

(3.1)
$$\sum \lambda_1 a^2 \ge 4\sqrt{\sum \lambda_1 \lambda_2} \ \Delta + (\sqrt{\lambda_3 + \lambda_1} \ a - \sqrt{\lambda_2 + \lambda_3} \ b)^2$$

with equality holding if and only if $\angle C = \arccos(\lambda_3/\sqrt{(\lambda_2 + \lambda_3)(\lambda_3 + \lambda_1)})$.

Proof. From one of $\lambda_1 + \lambda_2$, $\lambda_2 + \lambda_3$ and $\lambda_3 + \lambda_1$ greater then zero, and $\lambda_1 \lambda_2 + \lambda_2 \lambda_3 + \lambda_3 \lambda_1 > 0$, we have another two of $\lambda_1 + \lambda_2$, $\lambda_2 + \lambda_3$ and $\lambda_3 + \lambda_1$ greater then zero, and

$$\left|\frac{\lambda_3}{\sqrt{(\lambda_2+\lambda_3)(\lambda_3+\lambda_1)}}\right| < 1.$$

Let

$$\theta = \arccos \frac{\lambda_3}{\sqrt{(\lambda_2 + \lambda_3)(\lambda_3 + \lambda_1)}},$$

then

$$\sin \theta = \frac{\sqrt{\sum \lambda_1 \lambda_2}}{\sqrt{(\lambda_2 + \lambda_3)(\lambda_3 + \lambda_1)}}, \ \cos \theta = \frac{\lambda_3}{\sqrt{(\lambda_2 + \lambda_3)(\lambda_3 + \lambda_1)}}$$

From $1 \ge \cos(C - \theta)$, and $2ab \cos C = a^2 + b^2 - c^2$, $2ab \sin C = 4\Delta$, we obtain

$$1 \ge \frac{\lambda_3}{\sqrt{(\lambda_2 + \lambda_3)(\lambda_3 + \lambda_1)}} \cos C + \frac{\sqrt{\sum \lambda_1 \lambda_2}}{\sqrt{(\lambda_2 + \lambda_3)(\lambda_3 + \lambda_1)}} \sin C$$
$$2\sqrt{(\lambda_2 + \lambda_3)(\lambda_3 + \lambda_1)} ab \ge \lambda_3 (a^2 + b^2 - c^2) + 4\sqrt{\sum \lambda_1 \lambda_2} \Delta$$

or

that is inequality (3.1), with the equality holding if and only if $1 = \cos(C - \theta)$, i.e.

$$\angle C = \arccos \frac{\lambda_3}{\sqrt{(\lambda_2 + \lambda_3)(\lambda_3 + \lambda_1)}}$$

The proof is completed. \blacksquare

Theorem3.1 is obtained by K.-Ch. Yang in [5]. We can give some results for Theorem3.1, its not only among inequality (1.4), but also get some another corollaries:

Corollary 3.1. In every triangle, we have

(3.2)
$$\sum a^2 \ge 4\sqrt{3}\Delta + 2(a-b)^2$$

with equality holding if and only if $\angle C = \pi/3$.

Corollary 3.2. In every triangle ABC, we have

(3.3)
$$\sum a^2 \ge 4\sqrt{3}\Delta + \sum (a-b)^2 + 2(\sqrt{a(b+c-a)} - \sqrt{b(c+a-b)})^2$$

with equality holding if only and if $\angle C = \pi/3$.

Corollary 3.3. (Pólya-Szegö[6]) In every triangle ABC, we have

(3.4)
$$\frac{\sqrt{3}}{4} \left(abc\right)^{\frac{2}{3}} \ge \Delta$$

with equality holding if and only if the triangle ABC is equilateral.

From Lemma2.1, we easily obtain

Lemma 3.1. In every triangle ABC, if the sequence of $\{\Delta A_k B_k C_k\}_{k=0}^n$ that the sides and angles respectively as follow

(3.5)
$$a_{k} = \sqrt{a_{k-1}(b_{k-1} + c_{k-1} - a_{k-1})},$$
$$b_{k} = \sqrt{b_{k-1}(c_{k-1} + a_{k-1} - b_{k-1})},$$
$$c_{k} = \sqrt{c_{k-1}(a_{k-1} + b_{k-1} - c_{k-1})}$$

and

(3.6)
$$A_k = (\pi - A_{k-1})/2, B_k = (\pi - B_{k-1})/2, C_k = (\pi - C_{k-1})/2,$$

where $\Delta A_0 B_0 C_0$ is the triangle ABC. Then the triangle for sides a_k, b_k, c_k is a triangle for angles A_k, B_k, C_k , and we have

(3.7)
$$A_k = [(2^k - (-1)^k)(\pi/3) + (-1)^k A]/2^k$$

similarly, one defines $B_k, C_k, k = 0, 1, 2, \cdots$;

(3.8)
$$\lim_{k \to \infty} A_k = \lim_{k \to \infty} B_k = \lim_{k \to \infty} C_k = \pi/3;$$

and $\triangle_1 = \triangle_2 = \cdots = \triangle_k = \cdots = \triangle$.

Theorem 3.2. In every triangle ABC, if the sequence of $\{\Delta A_k B_k C_k\}_{k=0}^n$ that the sides and angles respectively define as (3.5) and (3.6), then we have

(3.9)
$$\sum a^2 \ge 4\sqrt{3}\Delta + \sum_{k=0}^n \left[\sum (a_k - b_k)^2\right]$$

Proof. In $\Delta A_{k-1}B_{k-1}C_{k-1}$, utilizing the fact that

$$a_{k-1}^2 = 4\Delta_{k-1} \tan \frac{A_{k-1}}{2} + (b_{k-1} - c_{k-1})^2,$$

we have

(3.10)
$$\sum a_{k-1}^2 = 4\Delta_{k-1}\sum \tan \frac{A_{k-1}}{2} + \sum (b_{k-1} - c_{k-1})^2.$$

From (3.6), then (3.10) become

(3.11)
$$\sum_{k=1}^{k} a_{k-1}^2 = 4\Delta_{k-1} \sum_{k=1}^{k} \cot A_k + \sum_{k=1}^{k} (b_{k-1} - c_{k-1})^2.$$

Also, by using the laws of cosines, we obtain

(3.12)
$$\sum a_{k-1}^2 = 4\Delta_{k-1} \sum \cot A_{k-1}$$

Combining expansion (3.11) and (3.12), we have

(3.13)
$$4\Delta_{k-1}\sum \cot A_{k-1} = 4\Delta_{k-1}\sum \cot A_k + \sum (b_{k-1} - c_{k-1})^2.$$

From $\triangle = \triangle_0 = \triangle_1 = \triangle_2 = \cdots = \triangle_n$, we get

(3.14)
$$4\Delta \sum \cot A_{k-1} = 4\Delta \sum \cot A_k + \sum (b_{k-1} - c_{k-1})^2.$$

In (3.14), summing from 1 to n + 1 for k, we obtain

(3.15)
$$4\Delta \sum \cot A = 4\Delta \sum \cot A_{n+1} + \sum_{k=1}^{n+1} \sum (b_{k-1} - c_{k-1})^2.$$

Utilizing the fact that

$$\sum \cot A_{n+1} \geqslant \sqrt{3}$$

and combining expansion (3.15), (3.12) and Lemma3.1, the proof of inequality (3.2) is completed.

4. The Index Generalizations for Weitzenboeck's Type Inequality

Theorem 4.1. Let $\lambda \ge 1$, and $n \in N$, in every ΔABC , we have

(4.1)
$$\sum a^{2\lambda} \ge 4^{\lambda} 3^{1-\frac{\lambda}{2}} \Delta^{\lambda} + \sum_{k=0}^{n} \sum |b_k - c_k|^{2\lambda}$$

where a_k, b_k, c_k define as Lemma 3.1.

Proof. When $\lambda \ge 1$, using the fact that [7]

(4.2)
$$\sum a^{2\lambda} \ge 3^{1-\lambda} (\sum a^2)^{\lambda}$$

and

(4.3)
$$\left(\sum_{k=1}^{m} x_k\right)^{\lambda} \ge \sum_{k=1}^{m} x_k^{\lambda},$$

where $x_i \ge 0$ $(i = 1, 2, \dots, n)$ and combining Theorem3.2, we obtain inequality (4.1). The Theorem4.1 is proved.

To prove the next theorem, the following lemmas [8] are necessary:

Lemma 4.1. If $k \leq (\ln 9 - \ln 4)/(\ln 4 - \ln 3)$, then in every ΔABC we have

(4.4)
$$\left(\frac{1}{3}\sum a^k\right)^{\frac{1}{k}} \leqslant \sqrt{3}R$$

Theorem 4.2. Let $0 < \lambda < (\ln 9 - \ln 4)/(\ln 4 - \ln 3)$, and $n \in N$, in every ΔABC , we have

(4.5)
$$\sum \frac{1}{a^{2\lambda}} \leqslant \frac{3^{1+\frac{\lambda}{2}}}{(4\Delta)^{\lambda}} + \frac{1}{2} \sum \left(\frac{1}{a^{\lambda}} - \frac{1}{b^{\lambda}}\right)^2$$

Proof. When $0 < \lambda < (\ln 9 - \ln 4)/(\ln 4 - \ln 3)$, from Lemma4.1, we get

$$\left(\frac{1}{3}\sum a^{\lambda}\right)^{\frac{1}{\lambda}} \leqslant \sqrt{3}R$$

i.e.,

(4.6)
$$\sum a^{\lambda} \leqslant 3^{1+\frac{\lambda}{2}} R^{\lambda}.$$

Combining expansion $R = abc/(2\Delta)$, inequality (4.6) becomes (4.5). The Theorem 4.2 is proved.

Theorem 4.2 is obtained by J. Chen in [13].

Corollary 4.1. In every $\triangle ABC$, we have

(4.7)
$$\sum \frac{1}{a^2} \leqslant \frac{3\sqrt{3}}{4\Delta} + \frac{1}{2} \sum \left(\frac{1}{a} - \frac{1}{b}\right)^2$$

and the coefficient 1/2 is the best possible.

Proof. Let $\lambda = 1$ for (4.5), we easily get inequality (4.7). Let a = b = 1, c = t, then inequality $\sum \frac{1}{a^2} \leq \frac{3\sqrt{3}}{4\Delta} + \mu \sum \left(\frac{1}{a} - \frac{1}{b}\right)^2$ becomes

$$\frac{1}{t^2} \left[2t^2 + 1 - 2\mu(1-t)^2 - \frac{3\sqrt{3}t}{\sqrt{4-t^2}} \right] \leqslant 0$$

Set $t \to 0$, we can obtain $\mu \ge \frac{1}{2}$, therefore the coefficient $\mu = \frac{1}{2}$ is the best possible.

5. WEITZENBOECK'S TYPE INEQUALITIES OF THE PLANAR CONVEX POLYGON

The next Lemma 5.1 is a preliminary election problem of the 29th IMO.

Lemma 5.1. If $\alpha_k > 0$, β_k are real numbers $(k = 1, 2, \dots, n)$, and $\sum_{k=1}^n \alpha_k = \sum_{k=1}^n \beta_k = \pi$, then we have

(5.1)
$$\sum_{k=1}^{n} \frac{\cos \beta_k}{\sin \alpha_k} \leqslant \sum_{k=1}^{n} \cot \alpha_k$$

with equality holding if and only if $\alpha_k = \beta_k$ $(k = 1, 2, \dots, n)$.

Theorem 5.1. Assume a_k $(k = 1, 2, \dots, n)$ denote the sides of a planar convex polygon $A_1A_2 \dots A_n$ and F the area. If $\alpha_k > 0$ $(k = 1, 2, \dots, n)$ for $\sum_{k=1}^n \alpha_k = \pi$, then in every planar convex polygon the following inequality holds

(5.2)
$$\sum_{k=1}^{n} a_k^2 \cot \alpha_k \ge 4F$$

Proof. To prove planar convex polygon $A_1A_2 \cdots A_n$ inscribed in a circle, because its area is maximal.

Set $\beta_k = 2\gamma_k - \alpha_k$, where $2\gamma_k$ is the angle at the centre of the side a_k , $k = 1, 2, \dots, n$. From Lemma5.1, we have

$$\sum_{k=1}^{n} \frac{\cos(2\gamma_k - \alpha_k)}{\sin \alpha_k} \leqslant \sum_{k=1}^{n} \cot \alpha_k$$

that is

(5.3)
$$\sum_{k=1}^{n} \sin^2 \gamma_k \cdot \cot \alpha_k \ge \sum_{k=1}^{n} \sin 2\gamma_k$$

Utilizing the fact that $a_k = 2R \sin \gamma_k$ $(k = 1, 2, \dots, n)$, and $F = \frac{1}{2}R^2 \sum_{k=1}^n \sin 2\gamma_k$, inequalities (5.3) becomes (5.2). Lemma5.1 is proved.

From Theorem 5.1, the following Corollary 5.1 is obvious.

Corollary 5.1. Assume a_k $(k = 1, 2, \dots, n)$ denote the sides of a planar convex polygon $A_1A_2 \cdots A_n$ and F the area, then in every convex polygon the following inequality holds

(5.4)
$$\sum_{k=1}^{n} a_k^2 \ge 4F \tan \frac{\pi}{n}$$

Corollary 5.2. Assume a_k (k = 1, 2, 3, 4) denote the sides of quadrilateral ABCD and F the area. If λ_k (k = 1, 2, 3, 4) are the real numbers for

$$\lambda_2\lambda_3\lambda_4 + \lambda_3\lambda_4\lambda_1 + \lambda_4\lambda_1\lambda_2 + \lambda_1\lambda_2\lambda_3 > 0,$$

and

$$\lambda_1 + \lambda_2 + \lambda_3 + \lambda_4 > 0,$$

then in every quadrilateral we have

(5.5)
$$\sum_{k=1}^{4} \lambda_k a_k^2 \ge 4F \sqrt{\frac{\lambda_2 \lambda_3 \lambda_4 + \lambda_3 \lambda_4 \lambda_1 + \lambda_4 \lambda_1 \lambda_2 + \lambda_1 \lambda_2 \lambda_3}{\lambda_1 + \lambda_2 + \lambda_3 + \lambda_4}}$$

Proof. Set $t\lambda_k = \cot \alpha_k$ (k = 1, 2, 3, 4), t is a real constant. From Theorem 5.1 for n = 4, we have

$$\alpha_1 + \alpha_2 + \alpha_3 + \alpha_4 = \pi,$$

and

$$\tan(\alpha_1 + \alpha_2 + \alpha_3 + \alpha_4) = 0.$$

Using the fact that

$$\tan(\alpha_1 + \alpha_2 + \alpha_3 + \alpha_4) = \frac{\sum_{1 \le i < j < k \le 4} \cot \alpha_i \cot \alpha_j \cot \alpha_k - \sum_{k=1}^4 \cot \alpha_k}{\prod_{k=1}^4 \cot \alpha_k - \sum_{1 \le j < k \le 4} \cot \alpha_j \cot \alpha_k + 1}$$

we can obtain

$$t^{2} = \frac{\lambda_{1} + \lambda_{2} + \lambda_{3} + \lambda_{4}}{\lambda_{2}\lambda_{3}\lambda_{4} + \lambda_{3}\lambda_{4}\lambda_{1} + \lambda_{4}\lambda_{1}\lambda_{2} + \lambda_{1}\lambda_{2}\lambda_{3}},$$

the proof of Corollary 5.2 is completed. \blacksquare

Corollary 5.3. Assume a_k (k = 1, 2, 3, 4) denote the sides of quadrilateralABCD and F the area, in every quadrilateral we have

(5.6)
$$\prod_{k=1}^{4} a_k \sum_{k=1}^{4} a_k \sum_{k=1}^{4} a_k^{-1} \ge 16F^2$$

Proof. Let $\lambda_1 a_1 = \lambda_2 a_2 = \lambda_3 a_3 = \lambda_4 a_4$ in Corollary5.2, then inequality (5.5) become (5.6). Corollary5.3 is proved.

Remark 5.1. The results of this section were obtained by X.-Zh. Yang in [9].

6. The Reverse Weitzenboeck's Inequality

Theorem 6.1. In every $\triangle ABC$, we have

(6.1)
$$\sum a^2 \leqslant 4\sqrt{3}\Delta + 3\sum (a-b)^2$$

and the coefficient 3 is the best possible.

Proof. Utilizing the fact that

(6.2)
$$\prod \sin A = sr/2R^2,$$

(6.3)
$$\sum \sin^2 A = (s^2 - 4Rr - r^2)/2R^2,$$

and

(6.4)
$$\sum \sin B \sin C = (s^2 + 4Rr + r^2)/4R^2,$$

then (6.1)
$$\Leftrightarrow 2\sqrt{3} \prod \sin A + 5 \sum \sin^2 A - 6 \sum \sin B \sin C \ge 0 \Leftrightarrow \sqrt{3}sr + s^2 - 16Rr - 4r^2 \ge 0 \Leftrightarrow$$

(6.5) $\sqrt{3}r(s - 3\sqrt{3}r) + s^2 - 16Rr + 5r^2 \ge 0$

From Gerretsen's inequalities [10]

(6.6)
$$27r^2 \leq 16Rr - 5r^2 \leq s^2 \leq 4R^2 + 4Rr + 3r^2$$

and Euler inequality $R \ge 2r$, inequality (6.5) or (6.1) is true.

Set a = b = 1, c = t, then inequality $\sum a^2 \leq 4\sqrt{3}\Delta + \mu \sum (b-c)^2$ becomes

$$2 + t^2 \leqslant \sqrt{3} t \sqrt{4 - t^2} + 2\mu (1 - t)^2,$$

Let $t \to 2$, we obtain $\mu \ge 3$, therefore the coefficient $\mu = 3$ is the best possible. The proof of Theorem 6.1 is completed.

Theorem 6.2. In every $\triangle ABC$, we have

(6.7)
$$\sum a^2 \leqslant 4\sqrt{3}\Delta + \frac{3}{2}\sum (a-b)^2 + 2R^2\sum (\cos B - \cos C)^2$$

Proof. Utilizing the fact that (6.2), (6.3), (6.4) and

(6.8)
$$\sum \cos B \cos C = (s^2 - 4R^2 + r^2)/4R^2,$$

$$(6.7) \Leftrightarrow 2\sqrt{3} \prod \sin A + \sum \sin^2 A - 3 \sum \sin B \sin C - \sum \cos B \cos C + 3 \ge 0$$
$$\Leftrightarrow 2\sqrt{3}sr - s^2 + 8R^2 - 10Rr - 3r^2 \ge 0 \Leftrightarrow$$

(6.9)
$$2\sqrt{3}r(s-3\sqrt{3}r) + 2(R-2r)(2R-3r) + 4R^2 + 4Rr + 3r^2 - s^2 \ge 0$$

From Gerretsen's inequalities (6.6) and Euler inequality $R \ge 2r$, inequality (6.9) or (6.7) is proved.

Above two results are obtained by B.-Q. Liu in [11].

The next Lemma6.10 is proved by A.Oppenheim in [12]:

Lemma 6.1. If $0 < \theta \leq 1$, then in every ΔABC we have

(6.10)
$$(\sum a^{\theta}) \prod (b^{\theta} + c^{\theta} - a^{\theta}) \ge 3^{1-\theta} (4\Delta)^{2\theta}$$

Theorem 6.3. If $\lambda \ge 2$, in every $\triangle ABC$ we have

(6.11)
$$\sum a^{2\lambda} \leqslant 4^{\lambda} 3^{1-\frac{\lambda}{2}} \Delta^{\lambda} + \sum (b^{\lambda} - c^{\lambda})^2$$

Proof. Since (6.11) is equivalence with

(6.12)
$$\left(\sum a^{\frac{\lambda}{2}}\right) \prod \left(b^{\frac{\lambda}{2}} + c^{\frac{\lambda}{2}} - a^{\frac{\lambda}{2}}\right) \leqslant 4^{\lambda} 3^{1 - \frac{\lambda}{2}} \Delta^{\lambda}$$

If $a_1^{\frac{\lambda}{2}}, a_2^{\frac{\lambda}{2}}, a_3^{\frac{\lambda}{2}}$ are not three sides of a triangle, then the expansion (6.12) or (6.11) is true, and if $a_1^{\frac{\lambda}{2}}, a_2^{\frac{\lambda}{2}}, a_3^{\frac{\lambda}{2}}$ are three sides of a triangle, from Lemma6.1 and $0 < 2/\lambda \leq 1$, then we can obtain the expansion (6.12) or (6.11). Theorem 6.3 is proved.

Finally, we propose an open question:

Assume $\lambda > (\ln 9 - \ln 4)/(\ln 4 - \ln 3)$. Solve that the best possible μ for the following inequality holds

(6.13)
$$\sum \frac{1}{a^{2\lambda}} \leqslant \frac{3^{1+\frac{\lambda}{2}}}{\left(4\Delta\right)^{\lambda}} + \mu \sum \left(\frac{1}{a^{\lambda}} - \frac{1}{b^{\lambda}}\right)^{2}.$$

References

- [1] O.Bottema, R.Z.Djordjević, R.R.Janić. Geometric Inequalities. Groningn, 1969.
- [2] P.Finsler, and H.Hadwiger. Comment.Math.Helv.10(1937).316–326.
- [3] Amer. Math. Monthy. Vol.93. No.5. (1986)400, E3150.
- [4] A.Oppenheim. Problem E1724, Amer, Math. Monthly, 72(1965), 792-793.
- [5] K.-Ch. Yang. The Strengthened and Generalized Weitzenboeck's Inequality. Math.Oly. Hunan People Press. Hunan, P.R.C., (1992)12, 66–77. (Chinese)
- [6] G.Pólya, G.Szegö. Problems and Theorems in Analysis. Vol.1-2, Springer, 1972.
- [7] G.H.Hardy, J.E.Littlewood, G.Pölya. Inequalities. Cambridge University Press, 2nd ed. 1952. 26-27.
- [8] A.Makowski, J.Berkes, Elem. Math. 17(1962), 40-41 and 18(1963).
- [9] X.-Zh. Yang. Comment on Problem 43. Bull Math (Wuhan),6(1991)40-41.(Chinese)
- [10] D.S.Mitrinović, J.E.Pečrić, and V.Volenec. Recent Advances in Geometric Inequalities. Kluwer Academic Publishers, 1989. 45–46.
- B.-Q. Liu. The Equivalence of Gerrentsen's Inequalities and its Applications. Journal of Tibet University. Vol.10. No3. (1995) 74–78. (Chinese)
- [12] A.Oppenheim. Inequalities Involving Elements of Triangles, Quadrilaterals or Tetrahedron. Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz. No.461-497(1974),257-263.
- [13] J. Chen. The Generalization of an Inequality. Shuxuejiaoxueyanjiu,4(1986).(Chinese)
- [14] Zh.-P. An. An Inequality for two Triangles. Shuxuetongxun,6(1987).3-5(Chinese)

(Sh.-H. Wu) DEPARTMENT OF MATHEMATICS, LONGYAN COLLEGE, LONGYAN, FUJIAN 364012, P.R.CHINA *E-mail address:* wushanhe@yahoo.com.cn

(Zh.-H. Zhang) ZIXING EDUCATIONAL RESEARCH SECTION, CHENZHOU, HUNAN 423400, P.R.CHINA. *E-mail address:* zxzh12340163.com, zxzzh0126.com

(Zh.-G. Xiao) Department of Mathematics, Hunan Institute of science and Technology, Yueyang, Hunan 423400, P.R. China.

E-mail address: xiaozg@163.com